Let’s determine the qualitative form of our capacitor voltage and we’re looking to determine whether it’s overdamped, underdamped or critically damped.
What we want to do first is find a couple key descriptions for our circuit.

These are the undamped resonant frequency in radians per second, and then the neper frequency α, which is 1/s.

So what we need to do once we find these values is compare them. 

We will compare the squares of these values.

We can state that the circuit is overdamped when α squared is greater than omega not squared.

It’s considered critically damped when these values are equal and underdamped when α squared is less than omega not squared.

Incidentally, we can compare these values directly.

The only reason I’m using omega not squared here is because this is represented as one over L times C.

Then α takes on one of two forms depending on whether or not we are looking at a series RLC circuit of a parallel RLC circuit.

Knowing what the circuit is, we can use the appropriate value for α.

So we’ll begin by finding the value of omega not squared.

We can simply use the values of inductance and capacitance.

[math equations]

Here we have 50 megaradians per second squared.

As we look at the circuit we see that it has a series connection of R, L and C.

So we use the appropriate equation for α.

[math equations]
α works out to be 10000 squared, or 100 million.

When comparing these values, we see that alpha squared exceeds omega not squared.

Therefore, this circuit is overdamped.
